

$$7.23 \quad (a) \quad \hat{F}(f(x+a)) = \int e^{-izx} f(x+a) dx = \int e^{-izx} e^{-iza} f(x) dx \\ = e^{-iza} \int e^{-izx} f(x) dx = e^{-iza} \hat{f}(z).$$

$$F[e^{iaz} f(x)] = \int e^{-izx} e^{iaz} f(x) dx = \int e^{-iz(x-a)} f(x) dx = \hat{f}(z-a)$$

$$(b) \quad \hat{f}_g(z) = \int e^{-izx} f_g(x) dx = \int e^{-izx} \frac{1}{g} f\left(\frac{x}{g}\right) dx$$

$$\text{Let } z = z/g \quad x = zg \quad dz = \frac{1}{g} dx.$$

$$= \int e^{-izg} f(z) dz = \hat{f}(dz)$$

$$F(f(gx)) = \int e^{-izx} f(gx) dx \quad \text{Let } z = gx. \quad dz = g dx.$$

$$= \int e^{-iz \frac{x}{g}} \frac{1}{g} f(x) dz = \frac{1}{g} \int e^{-i(z/g)x} f(x) dx.$$

$$= \hat{f}_g(z).$$

$$7.24 \quad f(x) = \begin{cases} 1 & -1 < x < 1 \\ 0 & \text{otherwise} \end{cases}$$

$$\hat{f}(z) = \int_{-1}^1 e^{-izx} dx = \frac{e^{-iz} - e^{iz}}{-iz} = \frac{2 \sin z}{z}$$

$$(f \star f)(x) = \begin{cases} x+2 & -2 < x < 0 \\ 2-x & 0 \leq x < 2 \\ 0 & \text{otherwise} \end{cases}$$

$$(f \star f)^{\wedge}(z) = \int_{-2}^0 e^{-izx} (x+2) dx + \int_0^2 e^{-izx} (2-x) dx$$

$$= \frac{(2iz - e^{2iz})}{z^2} + \frac{(2iz - e^{-2iz})}{z^2} = \frac{4 \sin^2 z}{z^2}$$

$$\therefore \hat{f}^2 = (f \star f)^{\wedge}$$

$$7.26 \quad \int_{\pi(n-1)\pi}^{\pi n} \frac{1}{x} |\sin x| \cdot dx = \pi \int_0^1 \frac{|\sin \pi((n-1)+t)|}{\pi((n-1)+t)} dt \quad \text{by } x = \pi((n-1)+t)$$

$$= \pi \int_0^1 \frac{|\sin \pi t|}{\pi((n-1)+t)} dt \geq \int_0^1 \frac{|\sin \pi t|}{(n-1)+t} dt \geq \int_0^1 \frac{|\sin \pi t|}{n} dt = \frac{2}{\pi n}$$

$$\int_0^{\infty} x^{-1} |\sin x| \cdot dx = \sum_{n=1}^{\infty} \int_{(n-1)\pi}^{\pi n} x^{-1} |\sin x| \cdot dx \geq \sum_{n=1}^{\infty} \frac{2}{\pi n}$$

Since $\sum \frac{1}{n}$ diverges, $\int_0^{\infty} x^{-1} |\sin x| \cdot dx = \infty$.